April 06, 2000 - The following is meant to describe how the Office of Budget and Planning (FMP/BP) calculates exchange rate gains and losses. It is not meant to instruct posts on how they should calculate exchange rate gains or losses in the field. Posts are advised that their point of contact regarding exchange rate gains or losses is their regional bureau and that posts should not contact the Office of Budget and Planning directly regarding this issue.

 

 

Calculating Foreign Exchange Gains/Losses

Department of State Overseas Operations

Formula for Year-to-Date Foreign Exchange Rate Gain or Loss on Liquidations

In order to calculate foreign exchange rate gains or losses as accurately as possible, FMP/BP must compensate for unknown variables. More precisely, BP must ascertain Posts’ total amount of local currency expenditures for the month in order to compute exchange rate gains or losses. However, the expenditure data that is downloaded from the CFMS system does not differentiate between local currency (LC) liquidations and U.S. Dollar liquidations. Instead, all liquidations are combined into a lump sum.

As a result during the establishment of the Annual Financial Plan, FMP/BP requests regional bureaus to estimate the percentage split of their total resources for each of Posts’ accounts between planned US dollar and LC liquidations. As exchange rates fluctuate through out the fiscal year Posts will liquidate more or less resources than planned for local currency expenditures. Therefore, the planned percentage would no longer hold true in that the actual LC expenditures as a percentage share of total resources changed from the planned percentage the moment foreign exchange rates (Fx) fluctuate. For example, if a Post planned to liquidate half of its total resources in LC and half in USD. If the USD devalued against the LC from 5 Local Currency Units (LCU) to 4 LCU, then Post would be spending 25% more for goods and services. Post planned to spend $100 dollars equivalent in LC and $100 USD for a total of $200 USD for the month. However, because of the Fx devaluation, the Post had to spend the equivalent of $125 in LC, which resulted in total liquidations of $225. The actual LC percentage share of total resources has changed from the planned 50% to approximately 56%. If BP were to apply the planned percentage to the CFMS data of $225 USD, the result would deflate the actual local currency expenditures by $12.50 (i.e., $225 X 50% = $112.50).

Because of the above circumstances, the percentage split of total resources between local currency (LC) expenditures and USD expenditures must be adjusted before applying any formula to liquidations. The resulting formula, derived algebraically, adjusts the planned LC percentage by multiplying it by the current percentage change in the exchange rate. The result is then added to the planned USD percentage that creates a total adjusted percentage. Total liquidations are then divided by the total adjusted percentage to determine the Fx gain or loss. The new formula is as follows:

Formula C


Where: 
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= The current end of month LC foreign exchange rate,
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= The base end of month LC foreign exchange rate ,
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= The gain or loss for the month,
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= The total liquidations incurred during the current month,
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= The percentage of total resources planned to be expended in USD, and
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The percentage of total resources planned to be expended in LC.

 

In order to create an example of how to execute Formula C, we will use the following assumptions: 

· Any Post 

· Base Fx = 5 LC units (LCU) per dollar 

· Total Resources for Fiscal Year = $2,400 USD 

· Planned Percentage of Expenditures in LCU = 50% 

· Planned Percentage of Expenditures in USD = 50% 

· Planned Monthly Expenditures in LC = $100 USD or 500 LCU 

· Total Planned Liquidations = $200 

· Actual Fx October 31st (i.e., First Month of FY) = 4 LCU per dollar 

· Actual LC Liquidations in USD = $125 (i.e., 500 LCU) 

· Actual USD Liquidations = $100 

· Total Actual Liquidations = $225 

· Total Loss for month = ($25) 

Using the data from the above assumptions we obtain the following results:
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Note that the formula results exactly match the indicated loss in the above scenario of $25 USD due to the LC appreciation from 5 LCU to 4 LCU.

To calculate the year-to-date gain or loss impact on liquidated balances, Formula C is applied to each month that has occurred in the fiscal year and summing the resulting Fx impact for all months to obtain a net year-to-date gain or loss on liquidations. The formula for year-to-date Fx impact on liquidations is expressed as follows:

Formula C[image: image8.png]
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Formula for Year-to-Date Fx Gain or Loss on Unliquidated Balances

The formula to calculate the year-to-date Fx impact on unliquidated balances must be adjusted to account for prior Fx gain or loss adjustments to avoid using an inflated or deflated amount of unliquidated LC balances. If prior gains or losses are not taken into account, then FMP/BP may end up taking more resources than has been allotted to post for gains or not reimbursing post enough for losses allowing post to run out of resources before the end of the Fiscal Year. Calculating the year-to-date Fx impact on unliquidated balances is done in two steps, first the adjusted LC unliquidated balance, remaining to be expended, must be calculated (Formula D). Then the projected Fx gain or loss on the adjusted LC unliquidated balance may be calculated (Formula E). The formulas to calculate the full year impact are as follows:

Formula D
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Where: 
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Adjusted LC unliquidated resources balance,
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Sum of year-to-date gains or losses,
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Total resources (USD and LC),
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Liquidations (total year-to-date USD and LC), and
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The percentage of total resources planned to be expended in LC.

Using the data from the assumptions listed above, we obtain the following results:

[image: image16.png]$1.100=(($2,400-$225)— (-$25))- 50%




Formula E
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Where: 
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Year-to-date impact of Fx gains or losses,
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Adjusted LC unliquidated resources balance,
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Sum of year-to-date gains or losses,

[image: image21.png]


= The current end of month local currency Fx, and
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= The base end of month LC Fx.

Continuing to use the data from the above example, we obtain the following results:
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Full Year Impact of Fx Gain or Loss on Budget Base

To determine the full year impact of Fx gains or losses on the budget base the formula becomes much more straightforward. This calculation is used to determine Fx impacts on the budget base at the beginning of the Fiscal Year, and does not take into consideration liquidations that have occurred throughout the fiscal year. In other words, using the Fx at any given point in time, what adjustment must be made to post’s budget base in order to maintain its local purchasing power the same as it was at the beginning of the year? The result of this calculation is used to annualize the year-to-date Fx gains or losses in the current fiscal year.

Formula F
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Where: 
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Full year impact of Fx gains or losses on budget base,
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Planned Local Currency resources,
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= The current end of month local currency Fx, and
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= The base end of month LC Fx.

Continuing the example using the data from the above example we obtain the following results:
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Note that the reason Formulas E and F both equal ($300) is due to using only one month to determine [image: image30.png]


(i.e., Sum of year-to-date gains or losses) in Formula E. However, by using only one month, the proof below demonstrates the validity of both Formulas E and F.

Annualization of Fx Gain or Loss

To annualize the current fiscal year, taking into account liquidations incurred to date simply subtract [image: image31.png]


(i.e., the year-to-date impact of Fx gains or losses) from [image: image32.png]


(i.e., full year impact of Fx gains or losses). This formula is used to determine post’s new budget base for the next fiscal year, primarily during development of the Annual Financial Plan. Annualization is defined as the additional adjustment that must be made to post’s current allotted resources in order to maintain its local purchasing power for the remainder of the FY as it was at the beginning of the Fiscal Year. 

Using the above assumptions, the results for Formula G is zero because only one month is used.

Formula G

[image: image33.png]



Where: 

[image: image34.png]


Adjustment needed to annualize the current fiscal year,
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Full year impact of Fx gains or losses on budget base, and 
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Year-to-date impact of Fx gains or losses

Proof of Year –to-date Fx Impacts

To prove the above formulas, it can be demonstrated that post is made whole again by maintaining the purchasing power of post in LC. At the beginning of the FY, post could buy the following amount in LCU:

$1,200 [image: image37.png]


5 LCU = 6,000 LCU

Adjusting for losses as determined in Formula E, post can now buy the following LCU amount:

($1,200 + $300) [image: image38.png]


4 LCU = 6,000 LCU
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